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is addressed), may be interested in seeing a proof |
that the difference between the annual Premiums is |
one wholly due to the transfer of the deaths and
subsequent interest-pooling of the same. Thus,
taking the H™ Premiums as payable, and the O™ |
death rate as operating, the value of the resulting
profit, where = /, and 7 does not vary, will be as
follows :
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Discountiny and summing, we get the value of the
profit
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Tte annual equivalent of which is s — 1"«
Similarly, if the premiums be upon the O™ basis and
the death-rate eventuating be as HY, then the value
of the loss will be
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I recommend the student to try the effect upon the
premiums for endowment assurances and other classes,
and also to institute some experiments with the old
Northampton Table as o ¢ of the standards, He
will thus acquire a good deal of practical, and bottom
knowledge.

In conclusion, let me add that I have brought out
a complete set of the / column for each fifth enty.

! age, and by the four tables referred to in the state.

ment, with summaries of the same, and, also,
specimens of the Reserves at 2)4, 3, 3% and 4 per
cent. Before I leave England, I will place the whole
at the disposition of the President of the Institute,
to be available for any student.
Your obedient Servant,
RALPH P. HARDY,

61 Addison Road, W,
8th Jum u)ol

Specimens of Annual Premiums, and of Reeerves for Each I00 Assured
" 2 140, 4+ 0
Where 100n Vo = 100 (1_ e )

Interest : 3 per cent,
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